i 4 } I_U
21 BECEENE=H=1—H L%

b A
ERTBA R IR R EhE R
T THETL T THT THTL

N _EETEH—H 46,372 110,632 132 (44,113) 113,023
ENCRY 5| — — — (14,685) (14,685)

MN_BE=F=H=1+—HK

TEBEZFEJIH—H 46,372 110,632 132 (58,798) 98,338
AR 5 K] - - — 1,805 1,805
BoHEENE=H=1+—H 46,372 110,632 132 (56,993) 100,143
EHEIREAR -
¥ /NS ) A 46,372 110,632 132 (56,762) 100,374
7= /N - - — 31) 231)
BoEEME-H=1—H 46,372 110,632 132 (56,993) 100,143
2N/ DS A 46,372 110,632 132 (58,567) 98,569
g/l - — = 31) 31)
NoEBEEZFE=H=+—H 46,372 110,632 132 (58,798) 98,338

* BAIZEFEIEHE MRS & B E A AR T 2 SR EFH53,771,000087C (ZEZE =M 1 51,966,0000E7T) ©



